S SY-50

SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2022

Part — I1I
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING
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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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SECTION -1

(ACCOUNTANCY) (40 Scores)
PART -1
Answer any 4 questions from 1 to 6. Each carries 1 score. “4x1=4)

Excess of expenditure over revenue of a not-for-profit organisation is called :
(a) Surplus (b) Deficit
(c) Profit (d) Loss

Which among the following account is prepared at the time of dissolution of a
partnership firm ?

(a) Profit and Loss Appropriation Account
(b) Profit and Loss Adjustment Account
(¢) Revaluation Account

(d) Realisation Account

The proportion in which existing partner surrender their share of profit in favour of
newly admitted partner is called :

(a) Sacrificing ratio (b) Gaining ratio
(c) Old ratio (d) New ratio

On retirement of a partner, the amount of General Reserve is transferred to all partner’s
capital account in :

(a) New Profit Sharing Ratio (b) Capital Ratio
(c) Old Profit Sharing Ratio (d) Gaining Ratio

Under fixed capital method of maintaining capital accounts, yearly adjustment are
transferred to partner’s

(a) Capital Account (b) Current Account
(c) Loan Account (d) Cash Account

Anil, Biju and Chithra were partners sharing profit and losses in the ratio of 5 : 4 : 3.
Biju retired from the firm. Gaining ratio of the remaining partners will be :

(@ 5:4 (b) 5:3
(c) 4:3 (d) Equal
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A.

SECTION -1

(ACCOUNTANCY) (40 Scores)
PART -1
1 2)®@8 6 QO aBeO®EIEIo 4 Ga103LEBUIAS  DATMAONLI®)d>.
1 ¢mpod all@o. 4x1=4)

80) LI0CERIWILIOEM  TLOAIMATIT3  AUIOYAIMETNANIRB  @RUIGHR0W]  alo)Mm
ealelaflom allslea)m ¢ald :

(a) alafo (b)  @ool
(c) esneo (d)  Mayo

830) alBOZlem MUNdaIMo alldlaalls)an MV2VED ®I6Ya|0IMAIVIT BB
@BRENDENBIEM GIYI0IBNAND.

(a) enemay afllaflcow GrEODME

(b)  EI0EMaY GRARIVONIZ GRADVNE

(©)  anmAdmermIdemw GRANVNE

(d) oﬂg@’loe@«séi (01WOBHLICTVAHNT) BRADVENE

a )@@ (a1c0IUdla{le96alg al®08les @MdeIa0] dlelnllenss 10803
@RAIOYeS £10€ANa0l®o All5)e@3:05)E0)aMN GRMIAIIGOGM ANSlHNAM Cald :

(a) ©®PY @M )IIB0 (b) ©mM3g @PM)aIO®O

() al9® @PM)aIO®O (d) ool GrM)aIdGH

830} o188 allealeeemidgd, 2Moad Alavdal @B af)eJo alBOSIWOSW MLIWM
@RADVEEICLIBH DOQIAMND aB® GRMaI0GOBHILI6M.

(@) al@IW LI alEHISM3 @RMaId®o (b)  MEIWM @PMIAIO®O
(€) alv® EI0Ro alBHIS@3 @GPMIald®0e  (d)  EMg @RM)AIO®o

audlo meIm  AGIOIG MEIWM  BRENVENEYHUB GQONIBNEMIOUB  AI0BaH] B

(B2 BHOEMEIBUB alEHOSIWOS @RADVENEICLIHS MOQIAM). -
(a) mEIWm EREODNE (b)  ®0g @GRV
(c) crIoem GRONVMNE (d) B EROEDVENE

@mlene mile)ane al(@@p 5 @ 4 1 3 o)) @M IOGOODIG3  LIEMSHYEIBUD
al®ls) M al808l@s0@lo)m).  milex) MundaImEI@d wlan afleala)). cudaHlee)m
alB08l»HS)0S GMF BPM)aIdBo N@OWIBlHN)o :

(@) 5:4 by 5:3

(c) 4:3 (d el
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B. Answer all questions from 7 to 9. Each carries 1 score. 3 x1=3)
7. Which among the following is a revenue receipt ?
(a) General Donation (b) Donation for building

(c) Life Membership Fees (d) Sale of fixed assets

8. Arun and Babu are partners in a frim sharing profit and losses in the ratio of 3 : 2. They
admitted Chandu as a partner for 1/6 share with a guaranteed minimum profit of
% 15,000. The Net profit of the firm for the year ending 31% March, 2021 was % 60,000.
Chandu’s share of profit will be :
(a) 10,000 (b) 15,000

(c) 20,000 () 30,000

9.  The capitalized value of average profit of a business is ¥ 5,00,000 and value of net
assets of the business is I 4,20,000. The Goodwill of the business under capitalization

method will be
(a) ¥5,00,000 (b) 4,20,000
(¢) 80,000 (d) 9,20,000
PART - 11
A. Answer the following question. Carries 2 scores. 1x2=2)

10. Write any two features of a Not-for-profit organisation.

B. Answer any 1 question from 11 to 12. Carries 2 scores. 1x2=2)

11. State any two circumstances under which goodwill of a partnership firm is valued.

12. Select the suitable Account from brackets for the following :
(Realisation, Bank, Partners, Capital)

(a) On dissolution of the firm, capital accounts of partners are closed by transferring
the capital balance to Account.

(b) The accumulated loss appearing in the balance sheet is closed by transferring to
Account.
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B. 7 2)®@3 9 a9 af)Lld GaldBemBudan)e 20mM0ea9)®)d. 1 ¢apod allme. Bx1=3)
7. ©9699a]o@)mMAaIRI@3 00IMY) AIEAT aB@eT ?

()  ©alom) MVEIAIM (b) BB>SISTIMBS TVoEIAIM

() @ERAIMIT® @R.N®) atlay’ (d)  avdlo eraleg1s alladalm

8.  @O)Mp nIosnalle 3 1 2 af)aN @RMIOMOIHIT  LIOEMaYEBUE  alBlS)an
MO INBTNOL! alBOSHB06M. 306D 15,000 ©)at D0 l} M@ £106ONOAT 1/6
alladl@olm @RAId  alomailom  alg0ogl@ow] caldom) 2021 208 31-0
@RAINVITENMM QAIBHODIG MOdaIMETIOM @PQIRdW. I 60,000 @RHI)IM).
21m)0fled 2108 a0I®o ag)(® ©)a1OBlen)o :

(a) 10,000 (b) 15,000
(c) 20,000 (d) 30,000

9. &0 mimfloqilend woeowd eneomlod meiwm el I 5,00,000 9o
GrLﬂmﬂm(rIﬂmc@ @nQ apMilows melp I 4,20,000 9o @YEM. MEIWMAUGIBNOEI
AT (Da{lgoeeIcavaad  sacomWw) @MVl milcdlmqiflend aqv@ca]o
(Wall@3) @) af)(@®IVBlan)o.

(@) ¥5,00,000 (b) ¥4,20,000
(c) 80,000 (d) 9,20,000
PART - 11
A, ®9¥a|0W)aDN GaloB3iOBIM DOMo af)F®)d. 2 GAPOA. 1x2=2)

10.  £106E2Jeom MO IMETNOG aRO@ 1Ll NE AVANCUIHDBHUD af)9)®)d.

B. 11 2)®@3 12 0160 ago@sslels 1 ¢al03 ol 2omoaa9)®)d. 2 capad.  (1x2=2)

1. 80} a1moglom aUNdaIMEDIGE VM| MLl  (VAWAN®E)  HEMEHIBS)M
ABO@B]ILI ONE TV IQIEEBUD (ITVIOH6)D:.

12, ®o6%9a]o@)amalgQowi] (N0 Gl@3 wlan  ERMEWIRNOW @RANVENE’
@1OOCTNS)HN)D
(OlOHSHLIEIVHUT, MIH:, alBISDHROS & §0a 19@3)
(a) auNoalMo  @RSLANGICMIOUD,  alBH0SldH8)S MEIWM  GRAHNDENEDHUD

©J1Ba |00)M® @GRV aflasloldlaf @RAOVEEICEINE DOGlWos.
(b)  eneIdaV Hdleel e il® Mayo GlBalodeINE GRADVENEICLINE)
20dlaosm.
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PART - 111

A. Answer any 3 questions from 13 to 16. Each carries 3 scores. B3x3=9)

13. Mr. Rajeev, a partner in a firm withdrew I 2,000 each every month from the firm.
Calculate the amount of interest on drawings @ 8% per annum, assuming that he

withdraws the amount :
(a) at the beginning of each month.

(b) at the end of each month.

14. Write any three differences between Receipt and Payments Account and Income and

Expenditure Account.

15. Smitha and Varghese are partners sharing profits in the ratio of 2 : 1. They admitted
Soorya as a new partner for% share in the future profits of the firm. Calculate new

profit sharing ratio of Smitha, Varghese and Soorya.
16. Write any three differences between dissolution of partnership and dissolution of firm.

B. Answer the following question. Carries 3 scores. (1x3=3)

17. Jeeja and Rekha are partners in a firm. Their capital balances as on 01-04-2020 were
Jeeja ¥ 1,50,000 and Rekha X 2,00,000. On 1-10-2020 Jeeja introduced additional
capital of ¥ 50,000. Calculate the interest on capital @ 10% per annum assuming that

they closes their books of account on 31% March every year.

PART -1V
A. Answer any 2 questions from 18 to 20. Each carries 4 scores. 2x4=8)

18. A firm’s profits for the last four year were I 30,000, ¥ 40,000, ¥ 50,000 and ¥ 60,000.
Calculate the value of firm’s goodwill on the basis of two years’ purchase of the

average profits for the last four years.
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PART - 111
A. 13 ay®m@d 16 Qo0 a@go®sslele 3 Gald3iEBUEN DOMHOOAYI®)D:.

3 ¢apod afloe. B3x3=9)

13, &0) AN0aIMEIOL! ald SO E3l. ededlal, TVNoaIMENIE3 MIaN BOGOO ATVl
3 2,000 olleo aflidaleila)). @09ajo@)an qV0a0al0EBRSElG8 allidalella) @)
(I@aIBato 8% WOBMN@3 aleflUd HEMENIBMNE>
(a) 8000 2IVOTORW)o ST @) alladalelanam).

(b) 80600 WAVEDIOWV)o @EAITVIMo @)D o fladalellasan;.

14. aoai- csmom”(ocrﬁ]m”g”cm"mqg' csoJ@)”ang'tm‘) @RAONDENE)o QAUIOYAIM Balelal (NMWdho
@) af)HTVOaIG]@) GREPVENE) @AENSS aBO@BILNe M)AN ALY OAVEBUB
af) QYO

15. 2 : 1 a)am @M I0@O@WH@ 100 algHlS)AM al@d08]e:806em alm®@)o alduilav)o.

1 o
SMUTes @oall eneomIHd 2 80200189 V)OOV B0} )TNV lB0s8lWIW]

@AId (alcalwlafla)). Mfl®, a1dUlav, av)ey «aNIQIES oG 1o alBlST3
@RMAIIBI0 HENINIBN .

16.  a1m08l00 afldlajjallseno al@0Elom MOaIMEDRION) @RSajali5elle ®ezlenss
aBO@ESIEI0 M)AN QAULGOAVEBUB af) QI®))d.

B.  ©00%a]0wan ¢alo3iomlm 20M0o af)P)@)dh. 3 GAVOA. 1x3=3)

17. HlRo)p coaIW) 60) MLOAIMAI@E al®o8la:aoem. 01-04-2020 @3 Hlxw)es
meIw®m naas] 1,50,000 0)nl1®@le Goa@IOSs MEIW® 611des] 2,00,000 0)ali@)noem.
1-10-2020-m" eflz 50,000 ©)IGRWIG MEIWMAIW] AGRHIMEIOIAN). @RAIG af)elo
QI@arONo 20Ba] 31-0 GRADVENE NNBN)HUB CHOTV §a1QIaN] af)aN @RMIAIM DT 3
(a1@3laiBato 10% Mloasl@3 MEIWMODTIOR alelvd &HMENIR)H:.

PART -1V
A. 18 2ym@d 20 Q190 ageo®eslel)o 2 Gald3LBUdas DOIMOAY)@)d>.
4 capod aflowo. 2x4=28)
18. &0 momm@mﬂac@ SHlaom Mmoel aldauee™ e19ee T 30,000, T 40,000, I 50,000,
3 60,000 opamlaiosm. @¥laom Moel QIBaHOT™ (0EdUEl LIEBINOA] O6NE
QIBHOT Q106133 AleIW)HS GRSITOIMATIT TVLNIAIMTITHIOM TVTIC|O MEIYo
BEMBNIAN .
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19. Complete the following table with regard to the provisions applicable in the absence of
partnership deed on the basis of the hint given :

Hint : Interest on capital No.

(a) Sharing of Profits and Losses | ..
(b) Interest on drawings | e
(c) Interest on loan from a partner | ...

(d) Remuneration to partner |

20. Anila, Kamla and Vimla are partners in a firm. Anila retired from the firm on 1% April,
2017. On that date ¥ 2,00,000 becomes due to her and the amount was transferred to her
Loan Account. Remaining partners promised to pay the amount due to her in four equal
annual instalments together with interest @ 8% annum. Prepare Anila’s Loan Account
till the loan closed.

B. Answer any 1 question from 21 to 22. Carries 4 scores. (1x4=4)

21. From the following details ascertain the amount of salary to be debited to Income and
Expenditure Account :

Salary paid during 2020-21 330,000
Salary outstanding on 31-03-2021 3 3,200
Salary outstanding on 31-03-2020 3 1,600

Salary paid in advance on 31-03-2021 3 800

22. A firm’s profits for the last three years and their respective weights are given below :

Year Profit (%) Weight
2019 70,000 1
2020 1,00,000 2
2021 1,10,000 3

Calculate value of firm’s goodwill on the basis of the two years purchase of the
weighted average profits for the last three years.

SY-50 8



19.  a1®08l010) (p120eMOEOG @REOCIGHIE3 MIDWHAIW AIYITVORHUB VoI Wla]
V)2 INWIES ERSINVOIMOTIE3 @O |0WIAM alSld a NAGTIVWOL)S :

L2 1M : MEIVMAHIN aleilvo el

(@) eneMayoalsdls@d |

(b) @qaojg"((g(apo@iom“m‘) alelloo |

(©) BSOS QI0WalISs aleil

(d)  aImglY Ilanelo

20. @omlel, eael, allael af)arlaid 80) MLOdAIMEIOL! ald0sla:gosm. 2017 ag@lol
1-0" @M MundaIMEmI@3 wlan aflloala)). @R GlE@IWIE3 GRAIVBES MB3BHOM)SS
2,00,000 ©)a! GRAIZOS CLIMD @RADVEEICEIB A0Gl. CUOHIBNIN alB0F]HUd
@RAIBHS MBBBHIMBB @D MLl @MEI} AIPBaHlD NVWBHBIW] (aIdlaIBato 8%
alefln Masl@o  M@BHIOAMN  AIDROMo  Hal).  GEIMS  BRAITLIMIBNAMNE
QIOHOWBS GRMILIWINS GLIOE BREHVENE GIQYIOIBN ).

B. 21 my®@3 22 a1690 ago®&lelns 1 Galdsiomlmn’ 2omeeay)®)d. 4 GaIa.
(1x4=4)
21, ©29%a|ow)am allvdEdewoeBEl@d alan’ aleal alelal (Mo GG af)e)aldlald)
@RAHVENEIGE HALMIY 2 1GQYME VOMIG W) HOBTIND

2020-21 0e1080il@3 M@ vomiIso < 30,000
31-03-2021 - e@e1 o8 @)Slygle I 3,200
31-03-2020 - e@er 008 @)slygle I 1,600

31-03-2021 ' myB)000fl M@ vomuse I 800

22. 80} MO2aIMOBIOHE HFIEHIm 2N AIGEHODI LIOEAI GRAIIOS GRGI® HAIWIGI
@989 HOS)OWIANBNAM)

QIB@aMo EeneEo (?) OQJGDFIQ'
2019 70,000 1
2020 1,00,000 2
2021 1,10,000 3

SN AN AUBHOOTID LIEBNOT (10251 Y0EUAIWIOS (HAIWIGW BRHAICOE?)
Q6ME” QIBUOO Q1B AlleIIOs GRSITLOOME@TIGE VO INETNOG TVGIEa]O

MEIYo HEIMDNIHN ).
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PART -V

Answer any 1 question from 23 to 24. Carries 5 scores.

(1x5=5)

23. The Receipts and Payments Account of Navodaya Library is given below. Prepare
Income and Expenditure Account for the year ended 31 March, 2021.

Receipts and Payments account for the year ended 31-03-2021

Receipts Amount Payments Amount

() (9]
Balance b/d (Cash) 2,400 | Salary 5,000
Subscription 18,500 | Furniture 14,500
Membership fees 1,700 | Stationery 1,400
Donation 6,000 | Electricity charges 1,650
Sale of old Newspapers 300 | Newspapers 3,600
Balance c/d (Cash) 2,750
Total 28,900 Total 28,900

Additional information :
(1) Subscription outstanding as on 31-03-2021 amounts to ¥ 1,500.
(2) Provide depreciation @ 10% on furniture.

24. Devika and Krishna are equal partners in a firm. Their balance sheet as on March 31,
2021 is given below :

SY-50

Balance Sheet as on 31-03-2021

Liabilities Amount Assets Amount
Creditors 38,000 | Cash at Bank 14,000
General Reserve 40,000 | Stock 27,000
Capital  — Devika 50,000 | Debtors 20,000

— Krishna 50,000 | Furniture 33,000
Machinery 84,000
Total 1,78,000 Total 1,78,000

They agreed to admit Amala into the firm with 1/4 share in future profits.

They decided to revalue their assets at the time of admission.
(1) Stock is to be revalued at ¥ 35,000.

(2) Furniture is to be depreciated by 10%.

(3) Machinery is to be revalued at I 1,00,000.
(4) A provision for doubtful debts is to be created on debtors at 5%.

Prepare Revaluation account.

10



23.

24.

PART -V
23 @8 24 190 a@e®slene 1 Galodiomlm’ 2oMOOAY®)dh. 5 ¢apoa.
(1 x5=5)

MEAB® HHLIENICIWIOS AIRAT - Caldds (0T lalQiy @RHAF CalHAFAV) GREDVENE’
21)016Ss M@BF1D1BlenaM). 2021 20@2 3 1-M @RAITVOM 2] AUBMHETNGNSS QIGYAIM
- §21L101 GRAHDENE (Do @T@(@' @@“@M(@g@ GBRAONDENE) QYINIHN ).

2021 203aj 31-9£1 00 laiqav @GR GalWHAFAV GRANDME

" @) . @)

foYlcTo]] Galods)

) A
?)361U006) (alérmo) 2,400 | vouso 5,000
QIGIaVosY 18,500 | an@emloyd 14,500
@Ro®) ablay’ 1,700 | equaxmdl 1,400
MLoEIAIM 6,000 | eeUBHGI SalelQl 1,650
al9® al(@o allgyaieal 300 | al(@6on3Ud 3,600
Dlosldla | 2,750
(al6mo)

@RY6) 28,900 @RI 28,900

@RWId> ailalo :
(1) 31-03-2021-0e1 aiclavesiy @)slydles I 1,500 @Y.
(2)  anBemla0)®uBee 10% mel@:H@o (WllaUlc@atad) @emandae ).

80)] MO IMAMIT GRAlG®)o dlaHMD)o LIy ald08la:a0em. 2021 - eel
@RAIODS MIoBFlal(@o (NILIMBIV aHlg) 21)016S M@ISIVIcleam) :
31-03-2021 &1 sniodslal@®o

ENIDW §@DHUDd @) @M @)
o@leq ¢ 38,000 | enIOBIENSS aleMo 14,000
2m0@3 dlavdal 40,000 | GELOBS 27,000
MEIWLMo  — ¢3alld 50,000 | eaweniceg ¢ 20,000

— @ {aH6m 50,000 | an@emila)d 33,000
e AaHlemaAl 84,000
QYo 1,78,000 QYe)dd 1,78,000

coalldloel eoeodlond 1/4 afladl®oe M@ GRALIO® A0 IMOEIGS
(a1€QIUTla fle9oad @RAIB MVEAGla)). (ICQIOM TLAVGID BRAIVYOS @RI HUD
aliMABMEIMIBEM©@o MSTMAIIMIe GIIAIMa)).

(1)  equosslond melio 35,000 ©)al1OW] &eMENIBNM..

(2)  an@emilgalm 10% mel@:@o (Wl llale@atad) @M EnIaeeMo.

(3) easHmalwes melye 1,00,000 ©)ai1@assemo.

(4)  ewenieg $load 5% MordWOTRBAIW KHSEBUBBHIW aflasi algemo.

al)MBmely WM GRENMENE @IYINIHN)D:.

SY-50 11 P.T.O.



25.

26.

27.

28.

29.

30.

SECTION - 11

(COMPUTERISED ACCOUNTING) (20 Scores)
PART - VI
Answer any 2 questions from 25 to 28. Each carries 1 score : 2x1=2)

Range of numbers are used for codification in :
(a) Sequential codes (b) Block codes

(c) Mnemonic codes (d) Alpha Numeric codes

Pre-defined formulae in spreadsheets are called :
(a) Functions (b) Cell reference

(c) Values (d) Operator
Identify the function which displays the current system date.
(a) TODAY (b) NOW

(c) DATE (d) DATEVALUE

Which of the following voucher is used to make rectification entries ?

(a) Purchase Voucher (b) Sales Voucher
(c) Receipt Voucher (d) Journal Voucher
Answer any 1 question from 29 to 30. Carries 1 score. Ix1=1)

Identify the function used for EMI (Equated Monthly Installment) calculation while
preparing a Loan Repayment Schedule in LubreOffice Calc.

(a) PMT (b) FV
(c) PV (d NPV

Identify the chart that display data in rings.
(a) Bar Chart (b) Column Chart
(c) Area Chart (d) Donut Chart

SY-50 12



25.

26.

27.

28.

29.

30.

SECTION - 11
(COMPUTERISED ACCOUNTING) (20 Scores)

PART - VI
25 2)®@3 28 A1OHO aBO®BILI)o 2 GaldBEIBUIGH DOMOOAYI®)h. 1 cMpod all@o.

2x1=2)
CHOWYHUWB  M@BHIN@IMIVS  TVoAIDBIOS  GUIT  DalCWIWIBNMND® ARG
C3OWlow) Bl@ilailelnem

(a) ©)502JWOW BHIUYBHUD (b) @M CHOW)DHUB

(c) mlcaoemld, GBHOWIBHUB (d) eRB0 MROACIE; BHIW

TUealwadldloel 2,5l Mldala llafl@leeam canodmein® allgleean :
(a) an6eBaU (b) &aV@ DanoMaV

(c) anely (d) &30qjeoQd

mlelaileoer ailguo Gl (1838uBlaleeam afow)at(d @dEla dlw)d.
(a) TODAY (b) NOW
(c) DATE (d) DATEVALUE

GOOM@  af)BESIHUWB  aIQIB  @IOY|O@AN  AIDO)BHSIE B
DalcoUleMN@ ?

(@) a1Beaav QIMad (b) eVl AIMayd
() eomflaiq aima)d (d) e=memdd aImayd
29 my®@d 30 Q190 age®sleno 1 G213 emIm’ 20mMea®)®)dkh. 1 ¢apoad.
Ix1=1)

efloEnt 80a0lay’ 0@ as1@3 630) GEI06M WIBla]SAT aHW YUB MQI00BEEMIIU3 EMI
(@14 DTV GAUEN) BHEMNAEN]B)FIMDIM DalEIUIBNAN aloWaHMB @1@laGlw)d:.

(a) PMT (b) FV

(c) PV (d) NPV

Woge® QAIBWEBS0W] (1138UBla{le9aM 21085 @@l olw)s:.
(a) en10@ 210@S (b) @080 21005
(c) oRAOlW 21035 (d) ewomsga10dg
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PART - VII

A. Answer any 3 questions from 31 to 34. Each carries 2 scores. B x2=06)
31. Identify the relevant functions in LibreOffice Calc used for the following purposes :

(a) To count the cells that contain numbers only.

(b) To count all types of data in a range of cells.

32. What is DBMS ? Give a suitable example for it.
33. List out any two advantages of preparing Graphs and Charts.

34. List out any two system generated ledger accounts in GNUKhata.

B. Answer any 1 question from 35 to 36. Carries 2 scores. 1x2=2)

35. Briefly explain any two security features of Computerised Accounting System.

36. State the accounting groups of the following accounts in GNUKhata :
(a) Cash in hand
(b) Machinery

PART - VIII

A. Answer any 2 questions from 37 to 39. Each carries 3 scores. 2x3=06)
37. Explain any three features of computerised accounting system.

38. Briefly explain any two Logical functions in LibreOffice Calc.

39. Explain the purposes of using the following voucher types in GNUKhata :
(a) Receipt Voucher
(b) Payment Voucher
(c) Contra Voucher

B. Answer question number 40, which carries 3 scores. (1x3=3)
40. Match the following items in Column — A with Column — B :
A B
(a) TEXT To calculate the accrued interest on investment

(b) ACCRINT | To search certain values from a table
(c) LOOKUP To convert a number into a text
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31.

32.
33.
34.

35.

36.

37.

38.

39.

40.

PART - VII

31 2)®@3 34 AUOOW8S aBO®BHIEN- 3 GaldBIEBUWGN DOANOHAYL®)d>.
2 ¢apod aflow. (B3x2=06)
elloEn! 80a0laV” HOGISFT @IHYa|0WIAN  BRHAINIEIBRENIW] DalERIWIBAM
aNEBaHM)BHU3 GGl ol :
(@) @RAHEBUD Ao DUBOANIBBIIM HAVENDHBIOS ag)gMo HEMINISNW.
(b) eavgpagies 80 cEemldlenl  af)LJodme  AWOIQWIOSWVie  af)siNo

GHEMNANISNI.

af)a06m DBMS ? G@m Grom)c@oe2in0@ 60) DBa006mMo M@Ih)d:.
((OaD)HGB)o 2108 DB)o GQI0ISNANTIOIY ONE NEMETBUD alSlHeIa|S)OTN)D.

Hlmauoom@ied  ailgue  BMEOQ  ©aIQYAN  aBO®SBIL . HLRIAWEIA
@RADVEEIHUB LITY 6219}

35 2)®@3 36 2190 aBO®BIENo 1 Ga13JOWIM OMEOAY)®)d. 2 GAVIA.

1x2=2)
HoalFHOOTVAW  GRAPVNELY)  TUIQUEINE  aBO@BILNe  Q6ME  AVIOAMO
TLONENHHUB TVodHlg 120X allKddldGEE9)H .

N5 10OMVIGE @0619a 0N GRADENEIDHSIOS GRANVENELY) (N)a B UB (ITNOOTNEeD :
(a) 068VeNsx alemo
(b) em@aHlemOl

PART - VIII
37 2a)®@d 39 Q160 aBO@FIEL 2 GaldBLEBUBGN DOMANALI)M:.

3 capod aflowo. 2x3=06)
HMIYSHOOTVW @RAHVMElLW) TIQUAHNOR aBO®EBILNe MAN TVONCUOHDDHUD
flvodl @109

efloerny  80adlay’ H0@BENOLI  aBo®EBIENe M8  CRINEIENM@  afoWaHM)DHUD
(@020 AflvoBlB>@1 86 >.

M0V @6Pa|0WAN AV ®OBUY DalCWIUIIGNIMDIOHNZ DEFUDYEDIRUD
aflvodleal e :
(@) omflaiQav aIvad (b) calWEANG QIVAd (c) ©®6eN3(so QIMaA

3 capodlm)as 40-00 MANUAB G103 §OVIM OO0 MGBD)d>. 1x3=3)
€080 — A QORI 69 |0WIN HMETBUB EH0Bo — B 200 610 100)010a |S)00)D :

A B

(a) TEXT Mleata IO B)SI@le: alellv &HemMaEnoanoad

(b) ACCRINT | 830} alSla@il@d mlan aflel myelyanod @lo@ond

(c) LOOKUP | 80} Mot 630} Ql0aldhaddas] A0Qoad
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